
www.cipherlab.com

Wall-Mount Installation

256x�����
��	
��

Copyright ©2016 CipherLab Co., Ltd.P/N S25CRAQG31006

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

4.7 mm

181 mm2.5 mm


���������。

。

����������������， �!"#�.。

$%&'(��)*(+,-/0������。

$1���(234，56789:;<9。

$1�=>?�@A��+,，BBC�DE。�$1���(�(F���。


G�H�I�J��

K�����L�HI�J��M�， �!"#K。

N

O%&PQ�M)*QR,S-TU�G��M�。

O1���Q234，5V7W9:;<9。

O1�=>?�XYG�R,，ZZC�DE。�O1���Q�Q[�M�。

4.7 mm

227 8mm

181 mm22.5 mm27.8mm

180

180

��：

�J：

2.5 mm/!"#�：7.8 mm

2.5 mm/!"#K：7.8 mm

��：

�J：

4.7 mm

4.7 mm

181 mm

M5 ()

()

'(��

�M ��

*(+,

*QR,)�M

)�� M2.6

M2.6

g! h!
ijklno GoBetween3vxyz{：http://ccs.cipherlab.com

�j�3vx����： GoBetween�nhttp://ccs.cipherlab.com

(2

(2

www.cipherlab.com

Wall-Mount Installation

256x Series BT Base

Quick Start Guide

Copyright ©2016 CipherLab Co., Ltd. P/N S25CRAQG31006

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

Drill one upper hole 4.7 mm in diameter on the wall.

181 mm down below the upper hole, drill two lower holes (spaced 7.8 mm apart) 2.5 mm in
diameter on the wall.

Then secure the provided screws and wall mounting clip to the holes respectively.

Get the scanner hook out of the BT base. Turn it upside down and put it back.

Align the BT base bottom slot with the mounting clip which can slide into the slot.
Mount the base by sliding it downwards the clip. Then hang the BT base on the upper screw.

Download the user manual and CD contents using GoBetween, available at
.http://ccs.cipherlab.com

Diameter: 2.5 mm
Spaced away: 7.8 mm

Diameter: 4.7 mm

181 mm

M5 (upper screw)

Mounting clip and M2.6 screws

Scanner
hook



www.cipherlab.com

Wall-Mount Installation

256x �����
��	
��

Copyright ©2016 CipherLab Co., Ltd. P/N S25CRAQG31006

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

4.7 mm

181 mm 2.5 mm


������� ��。

。

������ ��� ��� ����， �!"#� . 。

$%&'(��)*(+, -/0������。

$1���(234，56 789:;<9。

$1�=>?�@A��+,，BBC�DE。�$1���(�(F���。


G�H�I�J ��

K����� L�H I�J ��M�， �!"#K 。

N

O%&PQ�M)*QR,S-TU�G��M�。

O1���Q234，5V 7W9:;<9。

O1�=>?�XYG�R,，ZZC�DE。�O1���Q�Q[�M�。

4.7 mm

2 2 7 8mm

181 mm 2 2.5 mm 2 7.8mm

180

180

��：

�J：

2.5 mm/!"#�：7.8 mm

2.5 mm/!"#K：7.8 mm

��：

�J：

4.7 mm

4.7 mm

181 mm

M5 ( )

( )

'(��

�M��

*(+,

*QR,) �M

) ��M2.6

M2.6

g!h!
ijk lnoGoBetween3vxy z{：http://ccs.cipherlab.com

�j� 3vx� ���：GoBetween �n http://ccs.cipherlab.com

(2

(2

www.cipherlab.com

Wall-Mount Installation

256x Series BT Base

Quick Start Guide

Copyright ©2016 CipherLab Co., Ltd.P/N S25CRAQG31006

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

Drill one upper hole 4.7 mm in diameter on the wall.

181 mm down below the upper hole, drill two lower holes (spaced 7.8 mm apart) 2.5 mm in
diameter on the wall.

Then secure the provided screws and wall mounting clip to the holes respectively.

Get the scanner hook out of the BT base. Turn it upside down and put it back.

Align the BT base bottom slot with the mounting clip which can slide into the slot.
Mount the base by sliding it downwards the clip. Then hang the BT base on the upper screw.

DownloadtheusermanualandCDcontentsusingGoBetween,availableat
. http://ccs.cipherlab.com

Diameter: 2.5 mm
Spaced away: 7.8 mm

Diameter: 4.7 mm

181 mm

M5 (upper screw)

Mounting clip and M2.6 screws

Scanner
hook


	空白頁面



